



S.W Zone/Out /No. 7803  
Date : 16 / 01 /2026

To,

.....  
.....  
.....  
.....

**SUB :-** Renovation work of Electrification at chopati swimming pool in south west zone (Athwa)

Dear Sir,

You are requested to send your sealed quotation duly super scribed as " Quotation for Renovation work of Electrification at chopati swimming pool in south west zone (Athwa), Surat " on or before Dtd. **27/01/2026** up to 5:00 pm to south west zone (Athwa).

**Renovation work of Electrification at chopati swimming pool at south west zone (Athwa)**

**ABSTRACT SHEET**

Sr. No.	SOR 23-24 Ref. No.	Description	Qty.	Rate with SETC & 1% cons. cess	per	Amount
<b>ELECTRIFICATION WORK</b>						
1	1-2-1	<p>Point wiring for Light / Bell with 2-1.5 sq.mm &amp; earth wire of 1.5 sq.mm (Green) both are of ISI marked 1.1 KV grade FRLS PVC insulated multi strand copper wires up to 10 mtr length , in below type of pipe erected with 6A Modular type switch / bell push &amp; accessories and earth continuity of following type, erected on PVC / Metallic/Wooden box, single mounting base frame covered with textured/metallic/white front plate modules erected on / in wall / ceiling as per pipe erected, with necessary Lamp holder/ceiling rose / H.D.Connector as directed.</p> <p>(a) with medium class Rigid PVC pipe and accessories erected flushed on wall/ceiling complete</p>				
			35.00	419.15	NO.	14670.25

2	1-2-4.	Point wiring for on board Looped Plug with 6A Modular type switch & 5 pin socket erected on PVC / Metallic/Wooden box, single mounting base frame covered with textured / metallic/white front plate modules erected on / in wall / ceiling with following type accessories				
		Cat. III	10.00	241.39	NO.	2413.90
3	1-2-3.	Point wiring for Individual Plug with & earth wire of 1.5 sq.mm (Green) both are of ISI marked 1.1 KV grade FRLS PVC insulated multi strand copper wires up to 10 mtr length, in below type of pipe erected complete with Modular type switch & 5 pin Plug erected on PVC / Metallic/Wooden box covered with appropriate front plate modules erected on / in wall / ceiling as per pipe erected with following type of accessories.				
		[II] For 16A Plug and 16 amp switch with 2-2.5 sq.mm Cu. Wire from mcb db board.				
		(a) with medium class Rigid PVC pipe and accessories erected flushed on wall/ceiling complete	10.00	669.63	NO.	6696.30
4	1-2-2.	Point wiring for FAN with 2-1.5 sq.mm & earth wire of 1.5 sq.mm (Green) both are of ISI marked 1.1 KV Grade FRLS PVC insulated multi strand copper wires up to 10 mtr length, in below type of pipe erected with 6A Modular type switch and hum free EME step type electronic fan regulator mounted and accessories with earth continuity of following type erected on PVC / Metallic/Wooden box, single mounting base frame covered with textured/metallic/white front plate modules erected on / in wall / ceiling as per pipe erected. with necessary ceiling rose / H.D.Connector as directed.				
		(a) with medium class Rigid PVC pipe and accessories erected flushed on wall/ceiling complete .Cat. III	12.00	598.93	NO.	7187.16
5	1-4-1.	Providing and erecting Mains with 1.1 KV grade FRLS PVC insulated ISI marked stranded Copper conductor wire in following type of pipe to be erected concealed in /flushed on wall/ceiling, with 1.5 sq. mm copper conductor FRLS PVC insulated stranded wire of green colour for earth continuity of following size				
		(A) With medium class Rigid PVC pipe and accessories				
		(d) 3 wire 2.5 sq. mm	130	96.96	Mtr.	12604.80
6	2-15-1.	Supplying and erecting LED indoor fittings with LEDs of wattage 0.2 Watt to 0.5 Watt assembled on single MCPCB, with housing used as a heat sink shall be made of thick sheet Steel conforming to IS: 513/CRCA/ aluminium die cast powder coated and high U.V. & corrosion resistance with diffuser with company mark/name 160V to 270V,				

		Power Factor more than 0.9, THD < 15%, CCT 3000 K to 6500K, Luminaire efficacy > 85 lumens/watt ,LED LED driver efficiency > 85 %( fitting required LM-79 & LM-80 Certificates)(NOTE: Below description have shown ranges of Wattage capacity of LED fittings.The Engineer incharge may select any wattage capacity between the ranges shown.) (A) Tube Light with integral driver (iii) 18-20 Watts, Surge - 2KV,IP-20, conventional 4 feet				
		(iii) 18-20 Watts, Surge - 2KV,IP-20, conventional 4 feet	35	295.93	Ea.	10357.55
7	2-15-2	Supplying and erecting led lamps with following wattage capacity of 220 to 240 voltage, minimum 15000 burning hours life, 500 V in built-surge protection, Polycarbonate diffuser, mounting suitable for E14 / E27 / B22 lamp holders, pf >= 0.5 (iii) 10 to 15 watts, Cat-III	10	188.87	Ea.	1888.70
8	5-1-1.	Providing and erecting Approved make Ceiling fan with double ball bearing ISI mark with condenser A.C. 230V.50 c/s.1200 mm. sweep complete, canopy erected on existing hook or clamp with earthing. [Make shall be approved by Engineer in charge]	8	1596.81	Ea.	12774.48
9	5-3-4.	Supplying & erecting single phase approved make industrial exhaust fan suitable for medium duty ring mounted low noise operation suitable for medium duty having following dia size and maximum speed in RPM [A] 305 mm dia 900 RPM,Cat.II	5	2054.34	Ea.	10271.70
10	4-2-1.	Supplying & erecting XLPE(IS:7098)(I)-88 ISI unarmoured copper cable 1.1 KV grade to be erected as directed of following size. (E) 3 core 2.5 Sq. mm	90	136.35	Mtr.	12271.50
11	6-4-5	Providing & erecting approved make street light / wall mounting junction box compression moulded from SMC (thermoset plastic) vertical sliding cover having locking with square head stud loop in / loop out in built terminal suitable for four core cable, waterproof of I.P. 54 protected with clamp or bolt nut & earth bolt of following size. (B) 250mm x 194mm x 99 mm	10	616.10	Ea.	6161.00
12	3-11-5.	Providing and erecting Sheet Steel powder coated MCB distribution board - flush / surface mounted fitted with busbar, neutral link, earth bar and DIN rail, Conforms to IS 8623-1 & 3, IEC 61439-1 & 3 without MCB to house appropriate nos. of MCBs.(The DBs should be used of same company of MCB to be used) suitable for (A) single phase incoming and horizontal single phase outgoing (a) single door (IP-30)				

		(v)16 way	2	1039.29	Ea.	2078.58
13	3-12-2.	Providing and erecting Approved make RCCBs conforming to IS: 12640 and having sensitivity of 30 mA and Short Circuit withstand capacity of 10 KA and suitable for operation on 3 phase and neutral 415V,50Hz. having characteristic of quick action & tripping with all advance feature & do not incorporate any electronic component for following Max. rating erected as directed.				
		(i) 40 Amps.FP, Cat. III	2	2637.11	Ea.	5274.22
14	3-10-1.(A)	providing and erecting Miniature circuit breaker single pole 0.5A to 2A system and having breaking capacity 10 KA to be erected in existing box. confirming to IS 8828/1996 with ISI Mark				
		Cat.III	15	270.68	Ea.	4060.20
15	3-10-4	Providing & erecting 415V MCB Four Pole Switch for Lighting Load (B curve) having 10KA breaking capacity & confirms to IS :8828 in existing box having following capacity (a) 6 to 32 Amp.	03	578.73	Ea.	1736.19
		(b)40 Amp.	02	638.32	Ea.	1276.64
16	3-10-2.	Providing & erecting 240 V MCB double pole switch for motor & inductive load (C Curve) having 10 KA breaking capacity & confirms to IS : 8828 in existing box having following capacity				
		(A) 6 to 32 Amp,Cat.III .	3	299.97	Ea.	899.91
17	2-16-2	Supplying and erecting LED street light / Flood light fittings with High power White LEDs wattage of 3 Watt and above assembled on single MCPCB, efficiency more than 130 lm/w and corrosion free High pressure die cast aluminum housing with smooth finish powder coated and heat sink extruded aluminium with diffuser and Polycarbonate optics/ lenses, with toughened glass with company mark/name engraved or embossed 160 to 270 V,Power Factor more than 0.95, THD < 10 %, CCT 3000 K to 5700K,Uniformity ratio >0.45, Luminaire efficacy> 100 lumens/watt . LED driver efficiency > 85 %. ( fittings required LM-79 & LM-80 certificates)(NOTE: Below description have shown ranges of Wattage capacity of LED fittings.The Engineer incharge may select any wattage capacity between the ranges shown.)				
		(B) Flood Light (IP-65), Surge protection - 4KV integral and ,Light must have 440VAC line supply with over-voltage protection.				

		(vi) above 160 to 200 watts Cat. III	20	9647.52	Ea.	192950.40	
18	1-4-8	Supplying & erecting approved make LAN cable of following size in existing pipe as per direction					
		[C] CAT - 6	125	47.47	Mtr.	5933.75	
19	6-6-5	Painting of street light pole with bracket complete with two coats of Aluminium paint for following size of pole.					
		(C) up to 9 mtr	8	335.32	Nos.	2682.56	
20	MR	Providing and fixing GI Fabrication Bracket which should accommodate min. 3 nos. of Flood Lights including fitting it on the Street light pole, clamping, screwing, fixing of flood light fixtures, etc... complete.	10	1515.00	Nos.	15150.00	
21	4-2-1	Supplying & erecting XLPE(IS:7098)(I)-88 ISI unarmoured copper cable 1.1 KV grade to be erected as directed of following size. (K) 4 core 4 Sq. mm	50	238.36	mtr.	11918.00	
22	4-3-4	Providing and erecting XLPE (IS:7098)(I)-88 ISI armoured cable multistrand / Solid Aluminium conductor for 1.1 KV. to be laid on wall with necessary clamps or in existing trench / pipe of following size of cables (A) 4 core 4 Sq. mm	150	115.14	mtr.	17271.00	
		(B) 4 core 6 Sq. mm	50	124.23	mtr.	6211.50	
<b>Total amount of Electrification without GST Rs.</b>						<b>3,64,740.29</b>	
<b>Add GST 18% Rs.</b>						<b>65,653.25</b>	
<b>Total Estimated Cost with GST Rs.</b>						<b>4,30,393.54</b>	

## VENDOR'S LIST

Sr. No.	Equipments/ Accessories	Make
1	Luminaries	Philips, Havells, Bajaj, Crompton, GE, Surya, keselec schreder, Osram, Aditya.
2	Armoured/Un armoured Cable	CCI, Universal, Finolex, Torrent, Havells, KEI, R R Kabel, Bharat Cab, Incab, Gloster, Avocab, Unistar
3	FRP pipes & Accessories	Sintex
4	MCB,ELCB,RCCB	Siemense, MDS. L&T, Merlin Gerin, Indokupp, Schneider, Hager, Havells, ABB, C&S, Lagrand, Mitsubishi, Standard, CG
6	CEILING FAN	CROMPTON GREAVES, ORIENT, BAJAJ, KHAITAN, USHA, GEC, ORTEM, HAVELLS
7	EXHAUST FAN	GEC, CROMPTON, BAJAJ, ORIENT, KHETAN, ORTEM

I/We here by tendered to execute the above mentioned description of a work in accordance the accompanying specification and condition in consideration of the quantity of the work to be executed at PAR rate i.e. same cost / at \_\_\_\_\_ % (Percentage) in word

\_\_\_\_\_ Percentage Below / Above amount shown in Schedule - B

Sd/-

Executive Engineer  
South West (Athwa) Zone  
Surat municipal Corporation

Seal & Signature of Contractor

## □Technical Terms and Condition□

- Electrical Material like LED,Fan, Cable, MCB, Junction box etc must have warranty minimum 1 year.
- Quantity mentioned here are approximate only. It may vary as per actual requirement.
- Contractor has to get approval of the make/ material out of list mention above before supply.

## □Other Terms & Condition□

- The rates should be Excluding of GST & Including of other taxes/duties/loading/unloading/Labour including Transporting.
- Validation of Quotation will be 120 days from the last date of submission of Quotation.
- Bidders are suggested to visit the site location before quoting this quotation and for any further query, bidder can contact Light department of South West Zone,Athwa SMC.
- Work Completion period will be 30 Days from the date of work order. If contractor fails to complete above work than penalty @ 0.2% of amount unexecuted work per day delayed should be recovered from your bill. Maximum delay penalty shall be recovered 10% of unexecuted amount of work order.
- Contractor will have to submit Security deposit at the rate of 2 % of work order value within 10 days from the date of work order otherwise; penalty @ 0.065% of the amount of security deposit per day of delay shall be levied.
- Successful Contractor have to do Agreement, Surety & Undertaking on the non judicial stamp paper of Rs.300/- each purchased from Surat city only.
- Any "price variation clause" shall not be accepted.
- It is to be clearly noted that advance planning must be done with the department before installation work.
- Miscellaneous items to complete the installation in all respect & as described in specification.
- All required materials, tools, tackles and men power for the job shall be brought by the Contractor.
- Payment shall be made after satisfactory Completion of whole SETC work in all respect and submission of required documents and invoices of the work.
- All The Central, State and Local government rules and regulations including Safety shall be strictly followed by the Contractor.
- The name of work i.e. "**Quotation for the work of .....**" must be mentioned on the envelope.

Thanking You

Executive Engineer  
South West (Athwa) Zone  
Surat municipal Corporation

Seal & Signature of Contractor

<b>Sr. No.</b>	<b>Item Description</b>	<b>Location</b>	<b>Qty.</b>	<b>Rate</b>	<b>AMOUNT</b>
1	S.I.T.C.of single phase 240V, 50Hz Frequency, 2880 RPM Borewell submersible pumpset Motor rating 1.5 HP (16stage) pump having capacity of 50LPM at 60mtr head suitablefor 32 mm dia. delivery pipe with necessary Starter panel.	Shelter Home,Althan.	1		
2	<b>Total Amount with GST Rs.</b>				
3	<b>Total Amount with GST in Words Rs.</b>				

#### **TERMS AND CONDITIONS :-**

*	<b>Pump Make</b>	KSB, Pullen, CRI, Aqua, Kirloskar, kishore, Grundfoss
*	<b>MOC of Pumpset:</b>	BORE WELL SUBMERSIBLE PUMP SET (Bore Size:100mm) Noryl Bowl & Impeller, Stainless Steel Body, CRNGO M-45 Stamping, Graded Cast Iron FG-260
*	<b>Work completion period:</b>	15 Days from the date of Work order
*	<b>FOR:</b>	Mentioned Location
*	<b>Validity of quotation:</b>	30 Days

*	<b>Tax/Duties/Levies etc.:</b>	The rates of the material shall be inclusive of all taxes, GST, duties, levies etc. The applicable GST shall be reimbursed to the supplier on actual & on production of documents regarding credit of GST as per prevailing rate.
*	<b>Security Deposit:</b>	Successful bidder must have to submit security deposit (SD) of amounting 2.5% of quoted amount, after sanction work in form of Cheque/DD/Pay order only and SD of successful bidder will be released after satisfactorily completion of work.
*	<b>Agreement:</b>	Successful bidder shall have to undergo Agreement, Surety and Undertaking 300 stamp paper each as per SMC prevailing rules within 10 days from the date of work order.
*	<b>Payment condition:</b> -	Payment shall be made within 30 days, only after safe receipt & inspection/ acceptance of material at site.
*	<b>Warranty:</b> -	Min. 1 (One) Year
*	<b>Attachment</b>	Bidder shall have to submit this Quotation paper and along with relevant GST Registration Certificate, PAN Card and Detailed catalogue / datasheet under the sealed envelope and write " QUOTATION ", mention name of work, name and address of agency/contractor on sealed envelope Else the quotation will be rejected.

**Rates must be filled in this quotation paper only and returned duly sealed & signed.**

Thanking You,

- SD -

Executive Engineer  
South West (Athwa) Zone  
Surat municipal Corporation

Seal & Signature of Contractor